
3o41l23 

oto xu-EnineSo. 

3) No 

xopatnpoTKo 

det 3-A 

-3 V2x X 

-&-A 
= (3+9) (2-2)-2 

= 9t5A t6 -2 



-3 

(’-3&+126) = - 0 
(7 a -96) = -6 

ToTE npsnal, 

-3 

, - t 

-30L + V26 =-4 
1a0-26 = -46 

L=-2e 

,-4t 



X=e 

ESixis qborELs: 

XEYIKHun 

ToTE,. 

TDU 

=)x(t)=CiC 

dt 

Ci=1 

+Coe4t 

Prt 

Hozi eixaL hia aygoi uw Ln eubeia 

d(ae)-Tx(t)) = t)-axt) 

1 

EivaL: 

EvctaOhs 

= RX\t) -24 (tl t32x(E) -24(t) 

X 



ele-4e)=>()=0 
4tal=0 

Xt) 

t’+ 00 XLa t 

=412xe-4t 

ax 
-3xtV2 

2(ceCae-t) 
GLet Coet 

LSLoTIn. 

2CiHCae-st t’to 
CitCe-3t 

OLTu hnTw TI KO 

’-\2 

OTNV 



No TO 

x(t) 

X 

tCaet 
IE)=2CACt- 2Cae-t 

natw UTIS EU Jeiss : 

2Ciet 
CLetcae-t 

9Coet t’too 

((ool>cayTKO 

t’-00-2 



YO 

X x =Ciet+Cae-3t 

=) 

y= 2C1et -Cae-t 

tx= 4caet 
y-2x=-4Ce-t 

’.et=-2x 

=> y42x 

Lo 

ianbis 

4cl3 
-2x 

- 1 

=- ti 

tOU: 

Lov 



IsuoSiatichazai 

-1 -/2 

at&=(-t) 
--6- t)8 

1le 

COS t +Lsinte 

-sint tLcost 

le cost tisin t) 

cost le2 1sintle 
Sint 

O norE oLAJEs TnS 

cos te- 2 
-sint 

bopons 

COs t 

sinte 
COSt 



dx 
dx 

=>x\t)=C coste i tCisint& 

JeTIKOtorE. 

X XSD 

+cet= (citc)et 

6noganjis npxghank&s oigesl No TO 

1 -1 

4 3 

elt 

Evctalis 
Znaipa 

1Sionns ntav ka Sapá 



-Ci-Cg( 1tt) 
CitCt 

x=te't 
-(1te)elt 

t 

X(t)= Ciet t C te2t 

t)= -cLet -Ca (1-t)e2t 

=> 

t’to0- 1 

tx-elt 

=> y tx 

lo (0 0) ivaL aLUTOLO 

bsppns 

t 



1 
-1 

1 

1 

X(t)= cietcaet +Cae 
yit)= -Caei tCaet 

-CitA 
CitC2 
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